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%% 3t i% U7 J7 PR 2 (SHORT CONVERSATIONS)
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1. M: How are you, Diana? I haven’t seen you for ages.

W:

Q: What can we know about the woman?

: Oh, do stay for dinner. Please don’t go yet.

What does the man ask the woman to do?

=ro=4r»

W: Do be careful. And please write. Don’t forget.
Q: What is the man going to do?
A:
4. W. I'll sit down here and wait.
M:
Q: What can we know about the chair?
A:
5. M: I'm afraid we can’t fix the radio till tomorrow.
W
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Q: What is the possible relationship between the man and woman?
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I really love this music. Is this rock?

What music is the man listening to?

Peter is a good guitar player.

What is a fiddle?

But I have ten more.

How many records of blues does the man have?
Who’ s that boy with long brown hair?

What is Tony?

: They are usually stories of troubles and pain.
What does the man want to know?

: Not at all. I"m glad you could come.
What was the woman just offered?

: Yes, I can speak it very well.
What language does the man know?

: Do you like your manager?

: Why does the woman like her manager?

: Hello, and how did you spend the holidays?

: What did the woman do on the holiday?

: Oh, yes, I did. Thank you so much.
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: Why did the woman thank the man?

: The man talking with John appears friendly.

: How does the woman think of the man?

: Yes. That’s Linda.
: How is Linda eating?

: Really? That must be interesting.
: What course is interesting?

: Well, just look at the people you are talking with.
: What does the man want to know?

: Who is talking with Susan at the door?

Who is David?

: Why will the woman stay with her aunt?

: What kind of people does the library serve?

: Why can’t the man go out without his wheelchair?

Why does the woman look after the child?
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When will the woman work at the community service?

gE2pr>Q

Why does the woman refuse the invitation?

Who is answering the phone?

: Where is Ms Jones?

EEroRA=PrPoRdEr0

What does the man want to know?

Where does Ms. Cole plan to go?

: Why does Mary feel glad?

What does the man wear?

CEEZOERAPQERro0odg3ro

: Who does the woman love?

: What did the man get?
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: Why has the man not been able to play tennis for so long?

: Where did the woman go yesterday?

What did the woman ask the man to do for her?

What does the man want to do?

What 1s the man interested in?

What 1s Miss Green domng now?

What was the population in the United States in 17907

What information does the man want?

What shirt has the man bought?

What 1s the woman’ s work?
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: Why does the man think the first computer is better?

What can we leam from the dialogue?

: What did the man enjoy last night?

What has the woman assumed?

: What does the man plan to do?

: Why does the woman intend to go shopping?
. It is a holiday weekend.

She wants some silk.

: How old is the man?

21.
29.

- How heavy are the man’ s bags?
. 30 pounds.
. 44 pounds.

. What is the woman?
. An airhostess.

A receptionist.

. Where does this conversation take place?
. At a drugstore.

. At a post office.

. Where are the speakers?
. In a department store.

. On a train.

N O PO O PO POOPOCON PO POPORAPOATPORAPQOREAPQOEEP>Q

. Which of the following is not mentioned as food for the breakfast?

. She wants to buy some milk.
. She wants to replace the broken vase.

.24.
. 30.

. 34 pounds.
. 74 pounds.

. A waitress.
. A pilot.

. At a newsstand.
. At a coffee shop.

. In a car.

. In a shoe shop.
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. What describes the Home Service Center?
. Slow. B. Big.

Cheap. D. Prompt.

. What can we leam from this conversation?

. The woman is an immigrant.

The woman can take a free English course.
The man teaches in Lincoln High School.

Both A and B.

: What does the man want to do?

. Draw some money. B. Deposit some money.
Apply for a loan. D. Apply for a job.

. What is the probable relationship between the two speakers?

. Teacher and student. B. Mother and son.
Father and daughter. D. Brother and sister.

: What day is it today?

. Wednesday. B. Thursday.

Friday. D. Saturday.

: What does Susan mean?

. It is as good as usual. B. It is as bad as usual.
It is better than ever. D. It is worse than ever.
What does Nancy do to make herself look younger?

She is selective in what she eats. B. She does more physical exercises.
She goes on a diet. . D. Both A and B.

. What does the man mean?

It is impossible for the woman to exchange money today .
The woman has to be quick for the bank will close soon.
The woman will have to wait till 3: 00 pm.

. The woman has to go across the street to buy some clothes.

: What has the man thought?

. The woman was at school.

. The woman was on the decorating committee.

. The woman was on the clean-up committee.

. The woman went to the dance.

: According to the woman, which of the foﬂoﬁng questions may not be welcome?

. Do you play tennis? B. Can you speak French?

How much money do you eam each week? D. Which writer do you like best?

. What time of the day may it most probably be?
. In the morning.

B. At noon.
In the afternoon. D. In the evening.

: Why does the man look taller than he actually is?
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. Because he is much taller than average Americans.
. Because he is taller than most Japanese.

. Because he wears high-heel shoes.

. Because he is slim.

: How old is the man?

. 16.

. 20.

: What does the man mean?

. He watched the TV news last night.

. He didn’t watch the TV news.

: What can we learn from the conversation?

. The dog has been into the man’s flower garden at least once.

The man can no longer put up with the dog.
The man wants to give the dog something to eat.
Both A and B.

: Why does the man have a weary look?
. He didn’t go to bed until after 2 o’ clock in the moming.

He felt awful late last night.
He got up early in the moming.

. He attended a party this moming.
. What can we conclude from the man’s response?

. He refuses to help the woman out.

He agrees to change the bill for her,
He has no small change either.

He doesn’ t quite understand what the woman means.

Where is the man?
In a department store.
In a hospital .

. Which of the following statements is true?

. He feels it a shame to meet the woman.

He is glad to meet the woman, too.

. He knows the woman better.

. He often hears the same thing.

: Why does the woman like winter?

. The globe seems bigger in winter.

. The weather is delightful.

. Tt is pleasant to have the earth covered with snow.
. Both A and B.

: What does the man mean?

. He plays bridge once in a while.

B. 18.
D. 22.

B. He didn’t climb a skyscraper.
D. He does not believe the news.

B. In a restaurant.

D. At a garage.
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. He wastes a lot of time in playing bridge.
. He played bridge in the past.
. He never plays bridge.

: Who is the woman?

. the man’s wife. B. The man’s sister.
A movie-goer. D. A ticket agent.
: What will the man most probably do next?
Hand the woman a cigarette. B. Light a cigarette.
. Go out and smoke. D. Give up smoking.
: what does the woman mean?
. She accepts the man’s offer. B. She will drink a little wine.

She still wants some more wine. D. She will not take a drop of wine.
: What do we leam about the toilet?

. It is out of use. .

. It needs repairs before people can use it.

. It is a paid toilet.

. It has to be opened with a key if someone is to use it.
: Where is the man?

. In a restaurant.

. In his girlfriend’s home. D. In a supermarket.
: What do we know about the two men?

. They are good friends.

. They work in the same office.

. They haven’ t met each other before.

At home.

=

. They live next door to each other.

: Which of the following statements is true?

. Both of them study economy.

. The man works for the United States.

. The woman works for the United Nations.

. The man has just finished writing a book .

: What is the probable relationship between the two speakers?
. a diner and a waitress.

. A guest and a hotel receptionist.

. A patient and a nurse.

. An interviewee and an interviewer.

: What does the woman mean?

. She would let the man decide where to go for dinner.
. She doesn’t want to eat anything.

. She would bring some leftovers to the man.

. She doesn’t want to eat out.
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: Which of the following is most probably true?

. The couple live in an apartment on the second floor.

. Tim likes leaving the door open at night.

. Tim hasn’ t been home yet.

. The woman wants to keep the back door open to air the rooms.

: What is the probable relationship between the man and the woman?

. Boss and secretary. B. Doctor and patient.
. Lawyer and client. D. Father and daughter.
; What do we know about the man?

. He is in good shape.

. He has taken off some weight.

. He usually shaves before going swimming.

. He is not as fit as he used to be.

: Which of the following is true?

. The man will take out the garbage shortly afterwards.

The man will dump the garbage late in the day.
The man is willing to take the garbage out.

. The man refuses to do the job.
: Where does this conversation take place?

. At an airport. B. At a railroad station.

. At a harbor. D. At a bus stop.

: What is the man going to do tonight?

. Have dinner with the woman. B. Have dinner with his sister.

. Buy a T-shirt fro his sister. D. Enjoy music with his sister.
: Where does the woman work?
. In an motorcar company.

=

In an insurance company.

. In a garage. D. In a department store.
: Where does this conversation take place?

. In a restaurant. B. In a drugstore.

. In a post office. D. In a hotel.

. What does the woman’s answer imply?

. They usually go to bed at 9 o’ clock.

. They normally go to bed before 9 o’ clock.

. Nine o’ clock I too early an hour for bed.

. They’ ve only been up for 9 hours.

. What does the woman suggest to the man?

. Take a rest before his exams.

. Spend the weekend somewhere away from home .
. Work hard at the weekend.

. Go home to bed fro a long rest.

)
[}
.
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: What does the woman mean?

. She doesn’t know what will be shown on TV tonight.

The football match will begin 90 minutes from now.

. The only TV program tonight is the football match.

. There is hardly anything interesting on TV tonight.

. If one takes the 7:30 bus, when can he get to the city center?

. 8:00. B. 8:10.
. 8:20. D. 8:30.

+ 11
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A (BEFRTARETAR):
Directions: In this section, you will hear some (nine) short conversations. At the end of each

conversation, a third voice will ask a question about what was said. Both the conversation and the
questions will be spoken only once. Choose the best answer from the four choices A, B, C and D by
marking the corresponding letter on the ANSWER SHEET with a single line through the center.
1. W: John, what time is it now?
M: It’sstill early, just after two.
W: Well, as you know, this is a very important appointment. I can’t be late, can 17
Q: Why does the woman ask about the time?
A. She does not have a watch.
B. She is nervous about the appointment.
C. John’s watch keeps good time.
D. John is afraid to be late.
EE: B
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